# Automotive Service Technician 2025 - 2026

## **Overview of Program**

Learn how to diagnose and treat Automatic Transmissions/Transaxle, Brakes, Engine Repairs, Manual Drive Train and Axles, Electrical/Electronic Systems, Heating and Air Conditioning, Engine Performance and Advanced Auto Engine Performance. A combination of classroom and hands-on training prepares you for the Automotive Service Excellence (ASE) testing certification and for employment in the repair field. Additional certifications available for additional cost.

### **Certification/Credentials**

ASE

### **Graduation, Completion, and Placement Rates\***

Based on the data from 01/01/2023 - 12/31/2023

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
87.5%	88%	67%	N/A

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Automotive Service Technician 2025-2026

- Program Length = 36 weeks
  Program Begin/End Date 09/02/2025 06/16/2026
- Program Clock Hours = 600 hours
- I Payment Period = 09/02/2025 01/26/2026 2<sup>nd</sup> Payment Period = 01/27/2026 06/16/2026

## Cost for Dependent Student Living With Parent

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,675.00
Books			\$225.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	608.00	\$5,742.00
Transportation *			\$1,512.00
Loan Fees**			\$38.00
Total			\$17,540.00

#### Cost for Dependent Student Living On Own

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,675.00
Books			\$225.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Transportation *			\$1,512.00
Loan Fees**			\$38.00
Total			\$22,562.00

#### **Cost for Independent Student**

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,675.00
Books			\$225.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Transportation *			\$1,512.00
Loan Fees**			\$70.00
Total			\$22,594.00

### Cost for Independent Student with Dependents

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,675.00
Books			\$225.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Dependent Care	9	777.00	\$6,993.00
Transportation *			\$1,512.00
Loan Fees**			\$70.00
Total			\$29,587.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 36 weeks X 10 miles X 0.70 government mileage rate = \$1,512.00.

\*\*Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

### CNC Operations & CAD/CAM Programming 2025 - 2026

#### **Overview of Program**

This course is a combination of classroom and hands-on training. It helps students prepare for a career in Tool and Die, CNC, Mold Making and many other metal working trades. Students will gain a basic understanding of CNC setup, operations, and programming as well as an introduction to CAD/CAM software. Knowledge gained throughout the course will prepare students to take the NIMS credentialing test in CNC Mill Operations.

#### **Certification/Credentials**

NIMS Level 1 Certification

#### Graduation, Completion, and Placement Rates\*

Based on the data from 01/01/2023 – 12/31/2023. New program as of Fall 2024

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
N/A	N/A	N/A	N/A

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

#### Cost of Attendance for CNC Operations & CAD/CAM Programming 2025-2026

- Program Length = 19 weeks
  Program Begin/End Date = 09/02/2025-01/21/2026
- Program Clock Hours = 300 hours

Expenses	Weeks in Academic Year	Weekly Allowance	Total
Tuition			\$4,173.00
Books			\$168.00
Transportation *			\$798.00
Total			\$5,139.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the amount of weeks. Thus 6 trips per week X 19 weeks X 10 miles X 0.70 government mileage rate = \$798.00

Program meets licensure requirements in the following States: Ohio. SOC code: (http://www.bls.gov/soc/) 51-4041

Occupational Profile (https://www.onetonline.org/link/summary/51-4041.00) CIP code: 48.0501 For more information about graduation rates, loan repayment rates, and post-enrollment earnings about this information and other postsecondary institutions please click here: https://collegescorecard.ed.gov/

# Cosmetology 2025 - 2027

### **Overview of Program**

The Cosmetology program is designed to prepare students in the art and science of hair, skin, nails and management of a salon. The Cosmetology program prepares students for licensure as a Cosmetologist through the Ohio State Board of Cosmetology upon successful completion of the state boards. Cosmetologists are trained in the skills of haircutting, styling, and use of cosmetology tools, coloring, waxing, manicuring, pedicures, nail enhancements and make-up applications.

### **Certification/Credentials**

Ohio State Board of Cosmetology License

### Graduation, Completion, and Placement Rates\*

Based on the data from 01/01/2023 - 12/31/2023. We had no completers during this time period.

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
83.33%	83%	75%	100%

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Cosmetology

≻

- Program Length = 75 weeks
- $\geq$ Program Clock Hours = 1,500 hours

(1 year 45 weeks/900 clock hours) (2 year 30 weeks/600 clock hours)

- Program Length = 45 weeks 1 Payment Period = 1 to 450 hours
- Program Begin/End Date = 09/08/2025 05/26/2027 2<sup>nd</sup> Payment Period = 451 to 900 hours

### Cost for Dependent Student Living With Parent (First Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,959.00
Books			\$372.00
Personal Expenses	12	372.00	\$4,464.00
Living Expenses	12	608.00	\$7,296.00
Transportation *			\$1,890.00
Loan Fees			\$58.00
Total			\$24,039.00

#### Cost for Dependent Student Living On Own (First Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,959.00
Books			\$372.00
Personal Expenses	12	372.00	\$4,464.00
Living Expenses	12	1,196.00	\$14,352.00
Transportation *			\$1,890.00
Loan Fees			\$58.00
Total			\$31,095.00

### **Cost for Independent Student (First Year)**

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,959.00
Books			\$372.00
Personal Expenses	12	372.00	\$4,464.00
Living Expenses	12	1,196.00	\$14,352.00
Transportation *			\$1,890.00
Loan Fees			\$100.00
Total			\$31,137.00

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,959.00
Books			\$372.00
Personal Expenses	12	372.00	\$4,464.00
Living Expenses	12	1,196.00	\$14,352.00
Dependent Care	12	777.00	\$9,324.00
Transportation *			\$1,890.00
Loan Fees			\$100.00
Total			\$40,461.00

## Cost for Independent Student With Dependents (First Year)

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the amount of weeks. Thus 6 trips per week X 45 weeks X 10 miles X 0.70 government mileage rate = \$1,890.00.

\*\*Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

- Program Length = 30 weeks
- Program Begin/End Date = 09/08/2025 05/26/2027
- > 1 Payment Period = 1 to 300 hours
- $2^{nd}$  Payment Period = 301 to 600 hours

### Cost for Dependent Student Living With Parent (Second Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,080.00
Books			\$0.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	608.00	\$5,472.00
Transportation *			\$1,260.00
Loan Fees			\$38.00
Total			\$16,198.00

### Cost for Dependent Student Living On Own (Second Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,080.00
Books			\$0.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Transportation *			\$1,260.00
Loan Fees			\$38.00
Total			\$21,490.00

#### **Cost for Independent Student (Second Year)**

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,080.00
Books			\$0.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Transportation *			\$1,260.00
Loan Fees			\$70.00
Total			\$21,522.00

Expenses	Months in Academic Year	Monthly Allowance	Total
	fear		
Tuition			\$6,080.00
Books			\$0.00
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Dependent Care	9	777.00	\$6,993.00
Transportation *			\$1,260.00
Loan Fees			\$70.00
Total			\$28,515.00

### Cost for Independent Student With Dependents (Second Year)

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 30 weeks X 10 miles X 0.70 government mileage rate = \$1,260.00.

\*\*Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

Program meets licensure requirements in the following States: Ohio.

SOC code: (http://www.bls.gov/soc/) 39-5012

Occupational Profile (https://www.onetonline.org/link/summary/39-5012.00)

For more information about graduation rates, loan repayment rates, and post-enrollment earnings about this information and other postsecondary institutions please click here: https://collegescorecard.ed.gov/

# Culinary Fundamentals 2025 - 2026

#### **Overview of Program**

Students obtain a solid foundation in both basic cooking and baking skills, through related lecture and hands on practical applications in the culinary labs. Students learn about sanitation, safety, and could earn two industry recognized industry credentials as well as participate in a 40-hour Pre-Apprenticeship experience in a food service establishment.

#### **Certification/Credentials**

ServSafe

### Graduation, Completion, and Placement Rates\*

Based on the data from 01/01/2023 – 12/31/2023. New program as of Fall 2025

Graduation Rate	Total Completion Rate	Gradilate Placement Rate	Industry Credential Passage Rate
N/A	N/A	N/A	N/A

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Culinary Fundamentals 2025-2026

- Program Length = 20 weeks
  Program Begin/End Date = 09/02/2025-02/02/2026
- Program Clock Hours = 290 hours

Expenses	Weeks in Academic Year	Weekly Allowance	Total
Tuition			\$4,350.00
Books			\$150.00
Transportation *			\$840.00
Total			\$5,340.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the amount of weeks. Thus 6 trips per week X 20 weeks X 10 miles X 0.70 government mileage rate = \$840.00

Program meets licensure requirements in the following States: Ohio.

### SOC code: (http://www.bls.gov/soc/) 35-2021

Occupational Profile (https://www.onetonline.org/link/summary/35-2021) CIP code: 12.0500 For more information about graduation rates, loan repayment rates, and post-enrollment earnings about this information and other postsecondary institutions please click here: https://collegescorecard.ed.gov/

# Dental Assisting/Radiography 2025 - 2026

#### **Overview of Program**

This program prepares students for a chair-side position in a dental office. The course introduces dental anatomy, terminology, dental specialties, chairside assisting, laboratory procedures, infection control, sterilization procedures, dental instruments and mixing dental materials. The course also offers a 7-hour initial training course for a Dental Assistant Radiographer. This is the first step towards obtaining a Dental Assistant Radiographer's certificate in Ohio. BLS Healthcare provider CPR, as well as First Aid and Safety are included.

### **Certification/Credentials**

First Aid/CPR

### **Graduation, Completion, and Placement Rates\***

Based on the data from 01/01/2023 - 12/31/2023

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
66.67%	67%	83%	N/A

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

#### Cost of Attendance for Dental Assisting/Radiography 2025-2026

- Program Length = 14 weeks
  Program Begin/End Date = 09/08/2025 -12/11/2025
- Program Clock Hours = 156 hours

Expenses	Weeks in Academic Year	Weekly Allowance	Total
Tuition			\$1,515.00
Books			\$140.00
Transportation *			\$588.00
Total			\$2,243.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the amount of weeks. Thus 6 trips per week X 14 weeks X 10 miles X 0.70 government mileage rate = \$588.00

### Emergency Medical Technician 2025 - 2026

#### **Overview of Program**

This 150 Hour course is based on the EMS educational standards and is required for certification as an EMT in the State of Ohio. The curriculum is designed to prepare an individual to serve on ambulance services and fire departments. Prerequisites: At least 18 years of age, high school diploma or GED, driver's license and not been convicted of, plead guilty to or had judicial finding of guilty to crimes listed in OAC 4765-8-01. Accreditation #119. 20 Hours of clinical time are in addition to the 150 hours of class curriculum. Books, National Registry Exam and a uniform shirt are not included in tuition

#### **Certification/Credentials**

National Registry Exam for EMT

#### **Graduation, Completion, and Placement Rates\***

Based on the data from 01/01/2023 – 12/31/2023. We had no completers during this time period.

Graduation			Industry Credential Passage Rate
Rate	Total Completion Rate	Graduate Placement Rate	5 5
Rate			

N/A	N/A	N/A	N/A	
*The placement	rate is based on these completers	who are employed in a field rela	tod to their job training program A	ctual num

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Emergency Medical Technician 2025-2026

- Program Length = 13 weeks
  Program Begin/End Date 09/15/2025 12/10/2025
- Program Clock Hours = 150 hours

Expenses	Weeks in Academic Year	Weekly Allowance	Total
Tuition			\$1,295.00
Books			\$381.00
National Registry Exam			\$104.00
Transportation *			\$546.00
Total			\$2,326.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 13 weeks X 10 miles X 0.70 government mileage rate = \$546.00.

### Esthetician 2025 - 2026

#### **Overview of Program**

The Esthetician Program trains students in the performance of skin analysis and facial treatments, body care and make-up. The program prepares the students for career choices in the Cosmetology field of Esthetics in Salons, Spas, Skin Care Clinics and Medical offices performing skin care services. Our students are prepared to sit for the Ohio State Board of Cosmetology Esthetics Exam in Practical services as well as the written exam. Upon passage the students receive a license to practice Esthetics in the State of Ohio, making them employability in this in-demand hospitality field.

#### **Certification/Credentials**

COS State Board

#### Graduation, Completion, and Placement Rates\*

Based on the data from 01/01/2023 - 12/31/2023

Graduation Rate	Total Completion Rate		Industry Credential Passage Rate
80%	80%	75%	100%

\* Based on the previous school year's data. The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Esthetician 2025 - 2026

- Program Info = 36 weeks/600 hours
  - Payment Period = 09/02/2025 01/26/2026

Program Begin/End Date 9/02/2025 - 06/16/2026 2<sup>nd</sup> Payment Period = 01/27/2026 - 06/16/2026

#### **Cost for Dependent Student Living With Parent**

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,632.00
Books			\$328.00
Other Costs For Program			\$100.00 *Estimated
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	608.00	\$5,472.00
Transportation *			\$1,512.00
Loan Fees**			\$38.00
Total			\$18,430.00

#### Cost for Dependent Student Living On Own

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,632.00
Books			\$328.00
Other Costs For Program			\$100.00 *Estimated

Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Transportation *			\$1,512.00
Loan Fees**			\$38.00
Total			\$23,722.00

#### **Cost for Independent Student**

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,632.00
Books			\$328.00
Other Costs For Program			\$100.00 *Estimated
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Transportation *			\$1,512.00
Loan Fees**			\$70.00
Total			\$23,754.00

#### **Cost for Independent Student With Dependents**

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,632.00
Books			\$328.00
Other Costs For Program			\$100.00 *Estimated
Personal Expenses	9	372.00	\$3,348.00
Living Expenses	9	1,196.00	\$10,764.00
Dependent Care	9	777.00	\$6,993.00
Transportation *			\$1,512.00
Loan Fees**			\$70.00
Total			\$30,747.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the amount of weeks. Thus 6 trips per week X 36 weeks X 10 miles X 0.70 government mileage rate = \$1,512.00.

\*\*Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

Program meets licensure requirements in the following States: Ohio. SOC code: (http://www.bls.gov/soc/) 39-5094 Occupational Profile (https://www.onetonline.org/link/summary/39-5094.00) For more information about graduation rates, loan repayment rates, and post-enrollment earnings about this information and other postsecondary institutions please click here: https://collegescorecard.ed.gov/

#### Manicurists 2025 - 2026

#### **Overview of Program**

Learn manicurist skills including how to provide client consultations; nail, hand and feet analysis, nail skincare, products, ingredients, and proper selection of products. Students will learn how to perform hand and arm massages, the art of manicuring and pedicuring, artificial nail enhancements, lacquer and gel polish application; and creative nail art. Students will perform and perfect their skills in our student-operated salon overseen by our experienced instructors. Students will directly work with clients, schedule appointments; and learn hands-on about inventory control; and retail and marketing skills. Successful students will receive a career-technical certificate and be eligible to test for the Ohio State Board of Cosmetology and Barbers Board Licensure Exam.

### **Certification/Credentials**

COS State Board

### **Graduation, Completion, and Placement Rates\***

Based on the data from 01/01/2023 – 12/31/2023

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
82.35%	82%	79%	86%

\* Based on the previous school year's data. The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Manicurists 2025-2026

- Program Length = 14 weeks
  Program Begin/End Date = 08/25/2025 12/17/2025
- Program Clock Hours = 200 hours

Expenses	Weeks in Academic Year	Weekly Allowance	Total
Tuition			\$3,153.00
Books			\$352.00
Other Costs for Program			\$100.00 *Estimated
Transportation *			\$588.00
Total			\$4,193.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 14 weeks X 10 miles X 0.70 government mileage rate = \$588.00

## Phlebotomy Technician 2025 - 2026

#### **Overview of Program**

Students will have a fundamental knowledge of phlebotomy and will obtain the skills to collect blood specimens in a variety of situations. Students will be given the opportunity to draw blood from classmates and volunteers and will have a clinical handson experience. This course will have 100 hours in-class teaching and 100 hours of non-paid supervised clinical externship that typically occurs Monday through Friday 8 a.m. to 5 p.m. phlebotomy experience. Upon completion of this program and the National Healthcareer Association (NHA) national exam, entry-level job opportunities are excellent at hospitals, outpatient clinics, or physicians' labs.

#### **Certification/Credentials**

NHA Certification Exam for Certified Phlebotomy Technician Provider CPR

#### **Graduation, Completion, and Placement Rates\***

Based on the data from 01/01/2023 – 12/31/2023

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
100%	100%	83%	N/A

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Phlebotomy Technician 2025-2026

- Program Length = 16 weeks
  Program Begin/End Date = 09/08/2025 01/07/2026
- Program Clock Hours = 200 hours

Expenses	Weeks in Academic Year	Weekly Allowance	Total
Tuition			\$2,269.00
Books			\$92.00
Onboarding fee for			\$50.00
Clinical/Practicum			
Transportation *			\$448.00
Total			\$2,859.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 4 trips per week X 16 weeks X 10 miles X 0.70 government mileage rate = \$448.00

# State Tested Nurse Aide (STNA) 2025 - 2026

### **Overview of Program**

The State Tested Nurse Aide Program is designed to prepare students for patient care under the supervision of a nurse. Students learn the latest trends and practices with a hands-on approach. The program is designed for students with or without previous medical experience. Classroom and skills labs include: communication, infection control, safety, personal care, body mechanics, and basic nursing and restorative care. Graduates of this course are eligible to take the Ohio STNA exam.

### **Certification/Credentials**

State Tested Nurse Aide Certification

### **Graduation, Completion, and Placement Rates\***

Based on the data from 01/01/2023 – 12/31/2023

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
89.47%	89%	82%	N/A

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

### Cost of Attendance for STNA 2025-2026

- Program Length = 6 weeks Program Begin/End Date: Many Run Throughout Year
- Program Clock Hours = 90 hours

ExpensesWeeks in Academic YearWeekly AllowanceTotalTuition\$1,034.00Books\$61.00TB Testing, Uniforms, Immunizations\$61.00Transportation \*\$252.00Total\$1,047.00

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 6 weeks X 10 miles X 0.70 government mileage rate = \$252.00.

# Welding/Fabrication 2025 - 2026

### **Overview of Program**

 $\geq$ 

The Welding/Fabrication program prepares students for high-demand, high-wage jobs in the field of welding. Locally, welders are needed in many industries. The Lorain County JVS's welding lab is one of the finest training labs for welders in the area. The Welding Fabrication Program provides extensive booth practice time for students and broadly-based instruction in safety and various techniques, methods and materials to prepare students for employment in the welding field.

### **Certification/Credentials**

AWS Qualifications

### Graduation, Completion, and Placement Rates\*

Based on the data from 01/01/2023 – 12/31/2023

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
90.48%	69%	67%	N/A

\*The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Welding/Fabrication 2025-2026

- Program Length = 21 weeks
  Program Begin/End Date 08/19/2025 01/20/2026
- Program Clock Hours = 180 hours

Expenses	Weeks in Academic Year	Weekly Allowance	Total
Tuition			\$4,320.00

			0	
Books			\$337.00	
Approximate Supplies Cost			\$475.00	
Transportation *			\$588.00	
Total			\$5,720.00	

\*Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 4 trips per week X 21 weeks X 10 miles X 0.70 government mileage rate = \$588.00.